Rl #E2

[AMRBE] [BREE] [CREE]
- PR - PER - REN
il A omie | 1&8 | 2R [ 3R | 4:mR | s&R il At omiR | 1R | 2R | 3R | 4R | 58R i A omi | 1mR| 2&R| sme| 48R | 588
b2Fes 60 6 8 10 12 12 12 BT 60 10 10 10 10 10 10 BT 90 6 12 12 20 20 20
W% 80 10 10 12 14 17 17 W% 85 12 13 13 15 16 16 HE% 105 12 16 17 20 20 20
b=E7 90 4 2 2 2 5 5 g o5 2 3 3 5 6 6 b=E7d 15 6 4 5 0 0 0
X 43 Bl 44k ISHEH 8 (40%) Ll IR 12 X 43 Bl 1% ISHEH 8 (32%) Ll IR 17 X 43 Rl %5 354 15 (100%) Bl ER#EH 0
[DREE] [ERBE] [FREE]
- PR - PR - RES
i kil o | 1828 | 2R | 3R | 4:mR | s&R il At omiR | 1R | 2R | 3R | 4R | 58R i At o | 1mR | 2gR| 3me| 4R | 58R
BT 100 10 17 17 18 19 19 2k e 80 8 10 12 15 17 18 BT 90 8 10 12 20 20 20
W% 110 15 18 18 19 20 20 WEH 110 15 17 17 20 20 21 HE% 105 12 14 19 20 20 20
HEE 10 5 1 1 1 1 1 K 30 7 7 5 5 3 3 W 15 4 4 7 0 0 0
X 43 B % 35HH T (70%) LlERiEs 3 R 43 Bl 6 3E#EH 19 (63%) Ll EREES 11 X 4> Bl 2%k 35E% 15 (100%) EREH 0
XK R I 100% — 32% 4= 17. 0% (—d)
XLBEVHE HRLEOHKEC)
@D (c+dx 3) LIt 83%LL £ CF
@ (c+dx2) BE, (c+dx3) 66%LL £ 83%5 D
@ (c+d) BAE, (c+dx2) K& 49%LL F 66%k 5 E
@ cllt, (c+d) FxiF 32%LL £ 49%K 5 B, A




